Math 140
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1. Find the absolute extrema for f(X) = x*- 3x2- 9x on [-2,2].
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2. Describe (but do NOT graph) the local extrema and inflection
points for

f(x) = -xe*




3. Sketch the graph of f(x) if f(0) =0, f(0) =0, f(x) > 0
forx<-1and x> 2,f(x)<0for-1<x<2,f(x)>0
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4. Find the objective function and constraint needed to solve the
following problem. Do NOT finish the optimization. A window
whose top is a semicircle and bottom is a rectangle (see below)
is to be constructed so that the total area is 10 and whose
perimeter is as small as possible. X
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5. Suppose the demand equation is given by p €% = 400.

a. Find the elasticity.
b. At what exact price will revenue be maximized?
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6. Find the following sums for f(X) = (In x)(x?>+1 ) on [1, 4].
Write your answer so that only arithmetic remains. Do not
simplify.
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7. Evaluate the following integrals. Write your answers so that
only arithmetic remains. Do not simplify.
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